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Console.WriteLine("------ family size in IRAN ------ ");

Console. WriteLine ("Enter Population:");
long populate = long.Parse(Console.ReadLine());

Console. WriteLine ("Enter number of family :");
numFamily = long.Parse(Console.ReadLine());

float familySize = populate / numFamily;
Console.WriteLine("family size in IRAN: {0}", familySize);

S oSS 1y o 03,5 1yl Jgus 50 ousd 0818 polie b1y aoli

Lo Slg= 9> SIS slaxs Lo Ju
YVVAOFFY Vo) Fa554 ()55) o
SINAY; FYTYYY (oLals) ae
YEVFD Y4 F) (Loy) Ao

ol LSy el smy sl Lo Sl b anliyy g,5 U

3K Bl S asl gilael by oo wliion Ghlasigles g5 4 4z b o Shos 4z
s3e Sygo onl e g s kil sae o le ams il g liael ools g5 3l s Klas sladigles

float familySize = (float) populate/numFamily;
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Console.WriteLine (" ------ Final Price------ ");

//Get the First Price
Console.Write ("\nEnter Pricel:");
float pricel=.......ccccvivevivnieninarnnns ;

/IGet the Second Price
Console.Write ("\nEnter Price2:");
float price2=.......ccoovvvvrveinrnnnn. ;

//Get the Third Price
Console.Write ("\nEnter Price3:");
oAt PriCed = .o ;

//Get the fourth Price
Console.Write ("\nEnter Price4:");
oAt PriCed = ..o ;
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/ICalculate the Discount
float discount = pricel+ price2 + price3* 10/ 100 + price4* 70 / 100;
Console.Write("\n *** final Discount = "+ discount);
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int X =10,Y =3;
il 5l yShos F Jgucr
13 X=X+Y; X+=Y;
X=X-Y; X-=Y;
X=X*Y; X*=Y;
X=X/Y; X /=Y
X=X7Y, X7=Y;
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int count101, count102;

Console.Write("Enter count of student class 101:");

count101 = int.Parse(Console.ReadLine());

Console.Write("Enter count of student class 102:");

count102 = int.Parse(Console.ReadLine());
Console.WriteLine("count of students class 101={0} ", count101--);
Console.WriteLine("count101={0} ", count101);
Console.WriteLine("count of students class 102={0} ", count102++);
Console.WriteLine("count102={0} ", count102);

.M’L} ‘) MU).’ ‘39)5 mé;‘ﬁ' ') MU)-}
fams oo Glad (o & |y ST 90 gz i Slaws asliyy (29,5 L
S 52l 0,ligo |y anliyy g wudd pndi ) oS @Bl |y (WS Lgor F Slu gl Lod Caod
Console.WriteLine("count of students class 101={0} ", --count101);
Console.WriteLine("count of students class 102={0} ", ++countl102);
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Console.WriteLine ("count of students class 101={0} ", count101--);
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Console.WriteLine ("count of students class 101={0} ", count101);
Countl01--;
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Console.WriteLine ("count of students class 101={0} ", --count101);
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--count101;
Console.WriteLine ("count of students class 101={0} ", count101);
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Console.WriteLine("count of students class 102={0} ", count102++);
Console.WriteLine("count of students class 102={0} ", ++count102);
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intx=12,y=-12;
Console.WriteLine ("x={0} y={1}", x++, ++y);
Console.WriteLine ("x={0} y={1}", --x, ++y);
y = ++X;
X=y-;
Console.WriteLine ("x={0} y={1}",X,Vy);




aolp (9,5 y X

iy 0 gt toc

Cgmo pb gl ) Slae sl Slaslre Sloe G a1 0gdle + [ Slos 0uS axgi 55 oS dshad 4
90 Gl Slee laie & Slae cpl b String g4 51+ Shae sladighos 51 (o J8las 51055 0

int a=5+7;
string s="ali"+"reza";
string count="count of pencil : "+100;

s ilas |, COUNE 5 ¢ (gla yuicio (glgioms caiipi |y W oS axkad aaliy oSy 5o

‘smlf)lS

WSS A gs 5 oS askad 4
string s = "ali";
s+="reza";
Console.WriteLine(s);
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Console.WriteLine("flag = {0}",a>10);
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flag=a>10; Scwl <o a> jiflag
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int iranWater = 190;

Console.WriteLine(" The average consumption in IRAN -> " + iranWater);

int worldWater = 135;

Console.WriteLine(" The average consumption in WORLD -> " + worldWater);
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Console.WriteLine(" Is iranWater > worldWater: {0} ", iranWater > worldWater );
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bool flag=false;
int score=7;
Console.WriteLine("score = {0}",score);
Console.WriteLine("is student passed: {0}, is score=7:{1}",flag==true,score==7);
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int a=5, failed=9, passed =15; A
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passed>=12

failed +2 < passed -a

passed !=20

failed == passed —a
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int numl;
Console.WriteLine("Enter num1 : ");
numl=int.Parse(Console.ReadLine());
numl—++;
numl*5;
--numl;
numl/2;
Console.WriteLine("num1={0} ", numl);
Console.ReadKey();

oS doz 5 FB wuls 31 oolasiw! b 1y ol s [
w0l >1b VS jo s Canad 0y aslie a5 Jgaz 5o 1y Ll (yols &) cde g aoliy oyl sballas

ba.lé)b)m s ode

ad,y o 2105 JICs!

DS sl Debug2 b b glojg, II
o g MAIN w0 jo 1) oy 01
bool result = true;
Console.WriteLine(result > 0);
string s1 = "Ali";
string s2 = "Reza";
sl +=s2;
sl =sl -s2;
float f=100 - s;
sl =-sl;
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int booklet, children;
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Console.WriteLine("Enter number of booklet : *);
booklet = int.Parse(Console.ReadLine());
Console.WriteLine("Enter number of children : *);
children = int.Parse(Console.ReadLine());

int count = booklet / children;

Console.WriteLine("count={0} ", count);

Console.ReadKey();
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byte x, y;

y = byte.Parse(Console.ReadLine());

x = byte.Parse(Console.ReadLine());
Console.WriteLine((x==2) && (y==5));
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byte x, y;

y = byte.Parse(Console.ReadLine());
X = byte.Parse(Console.ReadLine());
Console.WriteLine((x==2) || (y==5));
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string weather;
Console.WriteLine(" weather:");

weather = Console.ReadLine();
Console.WriteLine("weather is not cloudy: {0}, weather!="cloudy");
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Console.Write("Enter numZ1:");

int numl = int.Parse(Console.ReadLine());

Console.Write("Enter num2:");

int num2 = int.Parse(Console.ReadLine());

Console.WriteLine(" {0} greater than{1} -> {2}",num1,num2,num1>num?2);
Console.WriteLine(" {0} less than {1} -> {2}", num1, num2, numl < num?2);
Console.WriteLine(" {0} equal to {1} -> {2}", numl, num2, num1 == num?2);
Console.WriteLine(" {0} not equal to {1} > {2}", numl, num2, num1!=num?2);
<)

Console.WriteLine("Enter an integer:");

int myInt = int.Parse(Console.ReadLine());

bool isLessThan10 = mylInt < 10;

bool isBetweenOand5 = (0 <= mylInt) && (mylnt <= 5);
Console.WriteLine("Integer less than 10? {0}", isLessThan10);
Console.WriteLine("Integer between 0 and 5? {0}", isBetween0And5);
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if (x=="bicycle")
Console.WriteLine("Playing");
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Console.WriteLine("Enter your choice / 1 or 2");

byte x = byte.Parse(Console.ReadLine());

if (x==1)
Console.WriteLine("'Pay bills");

if (x==2)

{
Console.WriteLine("Pay bills");
Console.WriteLine("reduction of traffic ");

}
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if (light=="red")

Vehicle_Condition = "stop";
else

Vehicle_Condition = "move";
Console.WriteLine(Vehicle Condition );
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string day = Console.ReadLine();

if (day == "odd")//condition true

{
Console.WriteLine("Studying");
Console.WriteLine("English class");
Console.WriteLine("Say praying");
Console.WriteLine("Visit Grand");

}

if (day == "Even") //condition true
Console.WriteLine("'Studying");
Console.WriteLine("gym");
Console.WriteLine("'Say praying");
Console.WriteLine('c# programming Class ");
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Console.WriteLine("Enter the floor");
int floor = int.Parse(Console.ReadLine());
if (floor 72==0)
Console.WriteLine("Elevator A");
else
Console.WriteLine("Elevator B");
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if (age>=18)
status="Allowed";
else
status="Not Allowed";
Console.WriteLine(status);
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Console.WriteLine("How old are you?");

int age = int.Parse(Console.ReadLine());
string s;

s = (age >= 18 ? "Allowed": " Not Allowed");
Console.WriteLine (s);
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Console.WriteLine("Enter your user name");
string user = Console.ReadLine();
Console.WriteLine("Enter your password");
string pass = Console.ReadLine();
if (user =="reza")
if (pass =="123456")
Console.WriteLine("Welcome " + user);
else
Console.WriteLine("The password is incorrect");
else
Console.WriteLine("Unkown user");
Console.ReadKey();
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Console.WriteLine("Enter the air temperature");

int temp = int.Parse(Console.ReadLine());

Console.WriteLine("Enter the weather conditions: sunny /cloudy / partly cloudy/ rainy");
string condition = Console.ReadLine();
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if (temp > 19)
if (condition == "sunny")
Console.WriteLine("Excellent");
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if ((temp > 19)&& (condition == "sunny"))
Console.WriteLine("Excellent");
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if (temp < 19)

{
if (condition == "sunny")
Console.WriteLine("'suitable™);
if (condition == "partly cloudy ")
Console.WriteLine("'suitable™);

}
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if (a>b) && (a>c¢))
if (b>c)
Console.WriteLine("{0} {1} {2}",a, b, ¢);
else
Console.WriteLine("{0} {1} {2}", a, c, b);

elseif ((b > a) && (b > ¢))
if (@>c)
Console.WriteLine("{0} {1} {2}", b, a, ¢);
else
Console.WriteLine("{0} {1} {2}", b, c, a);

else if ((c > a) && (c > b))
if (@>Dh)
Console.WriteLine("{0} {1} {2}", c, a, b);
else
Console.WriteLine("{0} {1} {2}", c, b, a);
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int count = 0;

if (b +¢>a) count++;

if (a+ ¢ >b) count++;

if (a+b>c) countt+t;

if (count == 3)
Console.WriteLine(true);

else
Console.WriteLine(false);
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if(a+b<=c) DS |91 65959 Hlado ¥ L1, aoli
Console.WriteLine(false); oS eoliinl 63,085 byl 5l wuilys oo 1090 (sg)

elseif (a+c<=b)
Console.WriteLine(false);
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Console.WriteLine(a+b>c && a+tc>b && b+ ¢ > a);
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if (season=="Bahar")
Console.WriteLine("Farvardin, Ordibehesht, Khordad");
else if (season=="Tabestan")
Console.WriteLine("Tir, Mordad, Shahrivar");
else if (season=="Paeiz")
Console.WriteLine("Mehr, Aban, Azar");
else if(season=="Zemestan")
Console.WriteLine("Dey, Bahman, Esfand");
else
Console.WriteLine('Season Wrong");
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string season ;
Console.Write("Enter Season:");
season = Console.ReadLine();
switch (season)

case "Bahar":
Console.WriteLine("Farvardin, Ordibehesht, Khordad");
break;
case "Tabestan™:
Console.WriteLine("Tir, Mordad, Shahrivar");
break;
case " Paeiz "

case "Zemestan":

break;
default;
Console.WriteLine("Season Wrong");
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long x = long.Parse(Console.ReadLine());

x=x% 10;

switch (X)

{

case 1:
Console.WriteLine("'5");

break;

case 2:
Console.WriteLine("'3");

break;

case 9:
Console.WriteLine("7");

break;

case 0:
Console.WriteLine("9");

break;

}
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Console.WriteLine("What’s your favorite color?");
Console.WriteLine("[r] red");
Console.WriteLine("[g] green™);
Console.WriteLine("[b] blue");
Console.WriteLine("[w] white");
Console.WriteLine("[y] yellow");

Console.Write(" Enter your choice: "),

char choice = char.Parse(Console.ReadLine());

switch (choice)
{
case'r'
Console.BackgroundColor = ConsoleColor.Red;
Console.Clear();
break;
case'g"
case'b"
Console.BackgroundColor = ConsoleColor.Blue;
Console.Clear();
break;
default:




W b Pl Jo oy Juad

WS JuoSS [y 4ol Y g W dmn g5 (51 0
WS ol ]y dol  aliee (50959 LI
) Az i Lol Ao b (6399 Olghe A o (i S b 31 7B A g8 S

fog o0
DS ABLS! o 1y g lod azduo oS ST ) Gl (ol doli o s pod s 1

|| silaio b i 9 SWItCH jgiws &b 3>

56399 b 3 (79,8099 £5 SrgeelS oliws S pl S8k )3 b oS gy slael petleS oo
S el ) il pog (o297

DS sl | loDevice ol b suus ojg

WS 3 ,lg Main wie yo 1y g5 4ol i

Console.WriteLine("enter your device™);
string x = Console.ReadLine();
switch (x)
{
case "keyborad":
case "Mouse":
case "Scanner":
Console.WriteLine("{0} is input device ",x);
break;
case "Monitor":
case "Printer":
case "Headphone":
Console.WriteLine(" {0} is output device ",x);
break;
case "Modem":
case "Network card":
case "Audio Card":
Console.WriteLine(" {0} is Both Input—OutPut Devices ", x);
break;
default:
Console.WriteLine("unknown');
break;

}
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